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Text S2. Correlation threshold calculation

By using Fisher’s r-to-z transformation, Z = 1
2 ln 1+r

1−r ∼ N
(
0, 1

T−3

)
, where T is the number of the volume

scans in a run. Let vi = 2√
T−3

zαi , for a given αi, i=1,. . . ,Q (number of IC for a subject within one

condition). The correlation threshold with significance level αi satisfies ri > evi−1
evi+1 . In order to adjust

multiplicity, we find an error rate αi for each IC to achieve an overall family error rate α. Assuming
independence of these tests, it is known [1] that

Pr
(
At least one Type I error among Q tests

)
= 1−

Q∏

i=1

(1− αi).

Now, using α1 = . . . = αQ, the significance level αi is then given by

1− (1− αi)Q < α ­ αi < 1− (1− α)1/Q.

Thus, e.g., if α=0.05, then for Q=25, the threshold for r is given by r > 0.33.
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